i
I
iy
Tl
P=ai
i

1. ¥4
kG4 B 6 — TAEEE  HAG)T) A B 5% s BEAR T 365
JEAT ST A LRI ) 1] ] SRS

2. EHEAR

1) FHEI4 AL EE s AT )1 B
2) JBATHIM 260 H [ H 4% 64 9H13H

AF1 T 5A30H

3) PN

4) EHBNE
ARSI OAMERFAE PR A WU OB EICTT 5 Z &2 A& LT, =I5
) 1178 Bt 3% S0 1B O R R R O IRBIEIR A R o b L ITERFE AR L, 20K
EREATT D ARSI E B G- 2 2 B OV TFT 2 b D TH D,

Eszi@ DY E R



Ly o 2R S
FERNRE
¥4 | A6 — THERE  EFI)IE BRI 2 ER BEES
H H A7) 1| B it 23 s PR
THH - TfE - FE5) =AY VA # & A Mo N AR
TA] )1 77 Bt e s R A = 5, 196, 880
1] )1 B % B B A =X 5, 196, 880
i i = 174,000 | i (i
1 K
AT ORI oy 410, 880 | SMREEIZ BT 2 BE SR 0B
1 =
Tl IKAR B 38O R R s
1 K
ARAE R & 0 £ & DR EMER = 428,000 | KHFEFR & 0 F & WA EIERK
1 K
R R OERE D E LD 2V 1,638,400 | HLHIGRA & OGS S EVER
1 K
RS REEE () ORETsE oy 953,200 | )& HLMi % DR () Ot
1 =
R TR & B RNBA Ot
1 =
F=H Y U7 (R) ORE
1 =
T B T O E G = 552,000 | {f[)I1 4 L7 D B H A B
1 =
UAVIZ & B IR R = 828, 000 | UAVIZ & 2] ILR L2
1 =
HE) - AT EEEX ko T Bk
¥
UAVIZ & 2 )R i
1 =
fZe (5omFefE) (2 & )| T &
LEOGEIRY
el = 212,400 | HEEIER
1 =

Eszi@ DY E R



EW4 | BF6 — TAHEE EAFIN)E B AR E R 2 ER BEES
H H Him
TEHA - LfE - R =AY VA * & A OB R
Bt = 296, 400
m (GAA - FHEZER) = 296, 400
e = 296,400 | ¥TAY
1 =
[ERE5 T = 343, 049
RS T¢ = 343, 049
T AL = 81,849 | hik# (it E - 15i0H)
1 =
%%Eﬁ%u%{?ﬁi% it: 134, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 =
NI T (S =X 127,200 | ZNBH AR S VERK 2
1 =
EREM (2 OMFEMmER<) =X 5, 836, 329
Z O FA =X 2,958, 131
— RS L = 4, 735, 540
SEVS A = 13, 530, 000

Eszi@ DY E R



